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PUBLIC ADMINISTRATION
Paper III
Time Allowed : 2% Hours| [Maximum Marks : 150

Note :— This question paper contains 76 questions. Attempt all questions. Each

question carries equal marks.
1. Which of the following is not associated with MP Follett ?
(A) The New State (B) Creative Experience
(C) Dynamic Administration (D)  Administrative Behaviour

2. Which of the following is not correctly matched ?

(A) First Enquiry - 1923
(B) Great Illumination - 1924
(C) Mass Interviewing Programme « — 1927
(D) Bank Wiring Experiment - 1931

3. Who criticised Mayo and his team as anti-union and pro management ?
(A) Loren Baritz (B) Daniel Sell

(C) Mulligan Carey (D)  Peter Drucker
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1. Frefafes ¥ ¥ wFE . s § getE T@ § 2
(A) &1 99 == (B) frufza wradifag

(C) =fas usfafreem (D) uzfafsRfea faRfage
2. Trfafes 4 4 =9 qifew & & ?

(A) wE F=aEl — 1923
(B) #2 segfrAvA - 1924
(C) HrE F=TgE WuM - 1927
(D) &% araftn wEafor= o= 193

3. fo=r d | ey T oft so=t 99 (9up) #) g9 fad s ways swds we
T2

(A) & =fEs (B) =faa d

(C) Hferm &4 (D) = THL
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4.  Who said that Development Administration is carrying planned change in the
economy or capital infrastructure and to a lesser extent in the social services,

especially health and education ?
(A) Merle Fainsod (B) J.D. Montgomery
(C) Fred Riggs (D) Ferell Heady

5. When the political executive dominates bureaucracy to take decision on party

lines, the system is called :

(A) Semi-politicised bureaucracy
(B) Demlitici@ bureaucracy
(C) Fully politicised bureaucracy
(D) Committed bureaucracy

6. Which of the following indirect taxes makes the greatest contribution to general

revenue ?
(A) Income Tax (B) Customs
(C) Union Excise duties (D) Corporation tax
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(C) Bz fog (D) @ &
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(A) wd-ueAifapa AeReme
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(C) o TrertferFa el

(D) wfas At

frfafiga # & FFE sWg FX FEEG ToE § WEE 991 AeE aa & 2
(A) &FaT (B) =¥ (9 &)

(C) 99 IER Y&H (D) =
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7. Which is the largest Committee of the Indian Parliament ?
(A) The Estimates Committee
(B) The Committee on Petitions
(C) The Public Accounts Committee
(D) The Committee on Public Undertakings
8. The development administration can be divided into :
(A) Extension and community services
(B) Programme management
(C) Project management
(D) All of the above
9. Who is the final authority to expound the meaning of the Constitution ?
(A) President (B) Parliament
(C) Speaker of the Lok Sabha (D) Supreme Court
10. In Weberian sense, administrative accountability means :
(A) Administrators are accountable to the people
(B) Both in terms of internal control and external responsibility
(C) Administrators are accountable to their immediate seniors

(D) None of the above
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7. uRdE 9T ol el = ofafa ¥ o
(A) weRe |fifd
(B) Ffa1 wifa
(C) wi @ Hinfa
(D) STl 3umHl Had wfufa

8. fawm wersm @ @l s gwa ¥
(A) famr s amefas & 4

(B) ®d%Y W= |

(C) uftErs1 ya=[ H
(D) 39 @t -d
o e =Y wren wG W W R fead wE o2
(A) Trezyfa (B) W&
(C) ¥rF |W *1 "Hwla (D) waf= <Ay

10. R F FTEE WIEEH SEEed w1 Hd # % 7
(A) sfvaprfedl =t @l B wfa SEEsE S
(B) =Fil gt faem oiR amedl fordierdt & wadf §
(C) A=l # Achifas afts afusiE & 9 samde &

(D) Sydsg & F T T
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11. Who wrote “The Bureaucratic Phenomenon” in 1964 ?
(A) Robert K. Merton (B) M. Crozier
(C) Henri Fayol (D) None of these
12. As a discipline, Public Administration :
(A) draws heavily from management science
(B) is oriented towards Political Science
(C) has no subject matter

(D) is a multi-disciplinary study of public policies and administration for public

services and welfare

13. Herbert Simon called the classical principles of administration ‘Proverbs’ because

these :

(A) are not to be found in real life situations
(B) do not take into account the human factors
(C) represent personal opinion

(D) come in pairs
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11. 1964 ¥ ‘7 =fEmfes weEfem e famn 2
(A) T2 =, wq (B) TH. HITeET
(C) ®8 FaE M) T H FE T
12, o Yo T fawm & w9 H .
(A) "IRTR Yaue fage ® smefa
(B) Terifas fasm =+ iR s9q@ ®
(C) To! #1 fawa-asg & %

(D) WrEss Hanei i weam & fou & it 3k yoes =1 o 9g-AgeEten

HATT
13. = wEEA ¥ wonEA @ Wi fagwi # A Fa g, F@ie 3
(A)mﬁsraﬁsﬂaaﬁaﬁwa'aﬁ%
(B) 9™ Uge] % WA @ AWISEN FW &
(C) =faamm faemi 1 wfafifue = §

(D) =gl # ama
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14. The scalar principle refers to :
(A) grading of duties according to the degrees of authority
(B) classification of civil servants according to scales of pay
(C) the principle by which scales of pay are fixed
(D) organizing the relations between members of line and staff
15. The basic purpose of delegation is to bring about :
(A) decentralization of administration
(B) decongestion of work in an agency
(C) conditional working with a subordinate
(D) creation of a new department
16. The traditional theory of motivation is the theory of :
(A) Participation (B) Path-goal
(C) Fear and punishment (D) Motivation-hygiene

17. In the study of comparative public administration, Riggs identified three broad
trends. Which of the following is not one ?

(A) Normative to Empirical
(B) Ideographic to Nomothetic
(C) Non-Ecological to Ecological

(D) Non-Developmental to Developmental
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15.

16.

17.

e wgfa it &

(A) Wi #1 30fa  FTER HWedl ®1 Afen

(B) e B A fafae d9i &1 Fritet

(C) T fagi fags T Jomm ™ fem wm &

(D) @EF 3R =% F WEE § A" gEdl w1 AEeH
YA W W Jeyd o € ¢

(A) worEd 1 famsim

(B) wardt # wmm w1 fadEme

(C) TF fiFed & WY TR FH HEN

(D) v =g fawm =1 goA

oo =1 gRefw fagia o fagE ¥ o

(A) Fewifer 1 (B) WY-wE =
(C) w3 3R == (D) Won-TE= W

mmmaﬁmﬁm#mmwﬁ@aﬁm% | oTH A
T T 7 '

(A) AT ¥ SHYESH
(B) waras ¥ Fam=s
(C) mififeafos & witfeufos

(D) #fawaas A TS
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18. The First Conference on Comparative Public Administration was held in :

(A) 1950

(C) 1953

19. A law passed by Parliament cannot be declared ultra vires by the Judiciary

in :

(A) USA

(C) France

20. Merit system of recruitment in USA was introduced by which Act of

Congress ?

(A) Pendleton Act

(C) Civil Services Act

21. The Cabinet of US President is :

(A) an Advisory body

(C) a Collegial body

T.B.C. : 21/15/ET—III
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18, oA @i WA 1 UGH e ®A g 4 ?
(A) 1950 # (B) 1952 #
(C) 1953 H (D) 1954 ®
19. T TR WRE % FEA FEdeE @ go Few w9 o e
(A) 3UET. H (B) 3. H
(C) Wi ¥ (D) 9@ #
90. arifter & wdf # drm woweh W whrw & frw sfufem B e @ B T 2
(A) e arfufm (B) =il sifufs
() fafom Fa1 afufam D) o sifufm
21. aifta & wegafa &1 afyHss § -
(A) % wemesrl (B) U waut FEm

(C) T wHeel wRufd (D) wEaa FeE
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22. Who criticised New Public Administration as a temporary and transitional

phenomenon 7
(A} Alan Campbell

(C) T. Golemblewski

23. Match the following lists :

List-I
(Theorists)
(@) Simon
(b) Etzioni

(¢) Lindblom

(d) Dahl
Codes :

(@ () (e (d)
A 3 @O (@) (4
B) 1 @ @) (2)
2 @ @3 @

D) 4 @3 @ @)

T.B.C. : 21/15/ET—III

14

(B)

(D)

(1)

(2)

(3)

(4)

Herbert Simon

Robert Dahl

List-11

(Theories)

Mixed Scanning Model
Incrementalism

Programme and Non-programme
decisions

Group Decision



29, frefetas § @ fagd 7o o oA 1 sRarl 3 d@HveEels aieeT weE
AT H T 7

(A) & HrgeE

(C) 2. TerTen!

93, Frefafas gfed # gifem FFT

-1

(fagiaem)

(@) WEAA

(b) zfeard

(¢) Torz=m

(d) =&
w7
(a)
(A) (3)
(B) (1)

(€) (2)

(D) (4)

(b)

(1)

(4)

(1)

(3)

{e)

(2)

(3)

(3)

(1)

T.B.C. : 21/15/ET—III

(d)

(4)

(2)

(4)

(2)

(B)

(D)

(1)

(2)

(3)

(4)

TEe |

P.T.O.



24. Who among the following is the first, who used comparative method in Public

Administration ?

(A) F.W. Riggs

(B) Ferrel Heady
(C) J.D. Montgomery
(D) Woodrow Wilson

25. Who defines social administration as the study of development, structure and

practices of social services ?
(A) Richard M. Titmus
(B) D.V. Donnison
(C) M. Forder
(D) Fredrickson &
26. In the age of liberalisation, the role of traditional public administration is :
(A) increasing (B) decreasing

(C) static (D) none of these
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24, T8 ¥ P9 o woned # gomas uafa @ owan wEm e ?
(A) wH. ==, fow
(B) W& &=t
(C) 2.3 wi=mmd
(D) g faeem

95. fEad gmifes wenas i gmfesE S99 & fawm, 9 R =g @ aEE @

wq # ufewfem e & 2
(A) fag w. feemm
(B) =&t Sr=EA
(C) . W
(D) wefEa
26. TW|HIHW @ I H, YRUfE diF WOEE HT qfEeE
) w7 @ & | B) W@t

©) fer ® D) 7 ¥ P T
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97. Which of the following agencies are included under the umbrella concept of

civil society ?
(1) Trade Unions
(2) Farmers Organisations
(38) Cooperative Societies
(4) Religious Organizations
(6) Youth Organizations
Codes :
(A) (2), (3), (4)
(B) (L), (2), (3)
(C) (3) and (4) only
(D) All of the above
28. Which one of the following is not the function of social research ?
(A) to aid to making a decision
(B) to improve the students learning
(C) to improve the memory

(D) to aid social studies
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27. frfefes wied & § frman = fofee wost Y & & wea wifter e mn % 2
(1) =9R |9
(2) ot & e
(3) wEwrt affat
(4) =ifH® HEA
(5) g w3
T
(A) (2), (3), (4)
(B) (1), (2), (3)
(C) (3) 2 (4) Faw
(D) =9dsa i
28. = # 4 Fa UF g AIEYE W Y Wl § 2
(A) Fofa o § waE@ S0
(B) @@t & W@t # FwS F
(C) IEEEd § U &L

(D) TEIfss g 3 3 a0
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29. Which of the following is a type of non-probability sampling :
(A) Snowball Sampling (B) Cluster Sampling
(C) Stratified Random Sampling (D) Simple Random Sampling

30. Which of the following is the correct step in conduct of social science

research ?

(1) Formﬁlating the research problem
(2) Developing hypothesis

(3) Determining sample design
(4) Collecting data

(5) Hypothesis testing

Codes :

(A) (1) 2y B @) B
B) 1) @G @) & 6
(€ G @ @) (@ (D)
D) @4 @ 1 G (@)

31. Which of the official in Indian Administration is described as the ‘Little

Napoleon’ ?
(A) Chief Secretary of State (B) District Collector
(C) Block Development Officer (D) Divisional Commissioner
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20, frm # A B TF R-HWET T F1 WER ¥ ?
(A) =9 g7 @
(C) wliFa AGfwF T
30. frefafas § & Fa ot fagm oy & dwed § af w59 ¥ 2

(1) FFEYR THE F TR FE

(2) e TR HE

(3) fauifa g3 TR Fw0
(4) fFHg 9YF

(5) uftheT T

T

(A) (1)
(B) (1)
(C) (B)

(D) 4)

31. wrdt woree # 3 4 fEu afued = fafem Adfesa’ e = § 2

(A) T & geg af=a =l

(2)

(3)

(4)

(3)

(3)

(2)

(3)

(1)

(4)

(4)

(2)

(5)

(5)

5)

(1

(2)

() vEve fasm Siusnl 5
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32.

34.

The State Finance Commission is appointed by :

(A) Governor (B) President

(C) Chief Minister ' (D)  Chief Secretary of the State
Which of the following functions is not the part of XII Schedule ?

(A) Urban Planning (B) Fire Services

(C) Solid Waste Management (D) Fisheries

Arrange the following countries according to the year in which open competition

for the recruitment of civil servants were introduced :
(1) India

(2) China

(3) UK

(4) USA

Codes : .

(A) 2) 3) (1) (@)

(B) (1) 2) 3 @)

€)@ 1 3 @

M 1) 4 @) @)
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32.

33.

Ty faw smdm fegs g Frgmm fem o % 2

(A) Tl (B)  Tgf

(C) =7 w3t (D) T} % Hgeg Fhaa
frefoafas @l § 4 Frm w1 128 g Fo9m @ ¢ 2
(A)mmﬂ (B) & Had

(C) 3 srafre wauT (D) .o T

Frofffian 24 B 9 W & AR WAy fawd AR fafre dm # @ R
et Wi odan #1 yEema & @ 2

(1) v

(2) <A

(3) g%

(4) TR

wHE

A @2 @ @O @
(B) 1) @2 @) @
€ @2 1O @

O 1 @ @ @)
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36. Which of the following is not true about the Prime Minister’s Office ?
(A) It is extra-constitutional body
(B) It enjoys the status of a department
(C) It is a staff agency
(D) It camue into existence in 1948
36. Kautilya’s Arthashastra mainly discusses :
(1) The Principles of Public Administration
(2) The Machinery of Government
(3) The Management of Personnel
Select the correct answers from the Codes given below :
Codes :
(A) (1), (2) and (3)
(B) (1) and (2)
(C) (2) and (3)

(D) (1) only
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35. WuE U wEEE ® AR § 38 8 FEE YT @ A6 8 2
(A) 77 wfaud w1 fafa e ®
(B) zo=1 fawm =t oof ww ¥
(C) gz g afysyn ¥
(D) 7% 1948 ® Hfma # s
36. Fifeey &1 NdvTA T T B G HA T :
(1) =% wnga & faga =i .
(2) HTEwW AU w5t
(3) ?nﬁﬁa‘»-wﬁ
= feu mu ez # /A wE IW F 9YF HiGY
e :
(A) (1), (2) 3R (3)
(B) (1) #R (2)
(€©) (2) 3 (3)

(D) &a& (1)

T.B.C. : 21/15/ET—II1 25 P.T.O.



37. Woodrow Wilson’s essay on ‘The Study of Administration’ was published in :
(A) Political Science Quarterly
(B) Journal of Administrative Sciences
(C) American Political Science Journal
(D) Canadian Administrative Science

38. “The Science of Administration is the latest fruit of the study of the Science

of Politics.” Who said ?
(A) W.F. Willoughby (B) F.J. Goodnow
(C) Woodrow Wilson (D) H.A. Simon

39. Who among the following is the first who used Ecological Approach in Public
Administration ?
(A) Woodrow Wilson (B) Ferrel Heady
(C) J.D. Montgomery (D) F.W. Riggs
40. Cabinet Secretariat in India performs :

(A) Line functions (B) Auxiliary functions

(C) Staff functions (D) None of these
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37. =0 fasma =1 Feiv ‘werga @1 oreggR’ wEIvE g o9 o
(A) dfiEfesa Qg Jamas d
(B) wvrafys fasm ufser d
(C) afia wifefesa wEw wfFm #
(D) Fe % wynafe faam #

38. "‘wymwa w1 fasm ueHifa f@am & 3wy9 1 F9990 w9 2 g8 U

forgam & 2
(A) z=g.uw. fasEt (B) TH. I EAE
(C) 920 faem (D) THEW WEHA

39. fFrafafas ¥ ¥ fema o wonm o witfefas sorm =1 wam = w@m faa 2
(A) g1 faewm (B) & &
(©) I#. wHrerimd D) vHEEy fom

40. vra # wiansa wigaea fooes @ § .
(A) g3 sfumoon sl (B) wea® &g

(C) =% F4 (D) 37 | w3 T
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41.

42.

44.

Which one of the following is not a type of Public Policy ?
(A) Distributive Policy (B) Regulatory Policy
(C) Social Policy (D)  Conflict Policy

Who defined public policy as “the authoritative allocation of values for the whole

society” ?
(A) Gabriel A. Almond (B) David Easton
(C) G. Bingham Powell (D)  Yehzakel Dror

Simon criticises the flaws of the classical politics-administrative dichotomy. He

presented :
(A) Public Choice Approach (B) Bounded rationality model
(C) Systems model (D) None of these

In the context of public policy mgking, Reserve Bank of India is a :
(A) Functional institution

(B) Supreme policy making institution

(C) Administrative institution

(D) All of the above
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41.

42.

43.

freiferfiga § ¥ S @ Aifd &1 TF ¥R J8 ¢ 2
(A) faaro ifa (B) faframs -ifa
(C) wmfe= Hifa (D) == Hifa

frefafea 4 A 5wy o ifa F1 | 999 & fau ge0 & wivda JA6eT F ®9
# ufowifea fFn & 7

(A) Tifsger w amgoe (B) zfaz =
(C) =1, fo=m gEa (D) FEFA ZR

RT3 wEiE Teif vt e @ SO @ SelE &, SR e

fear
(A) TrEsfas whe gfesm (B) uRaEg JFom giesmn
(C) =gz efesm (D) TH q *E @

Tt i Fefn & ey |, udg fed W ®
(A) FEcHS TGl
(B) war=w Hifa fmfor gwen

(C) wemafa den

(D) I9gaa w4t
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45.

47.

48.

Which of the foll(gving governs the procedure for decision making ?
(A) Rules of Parliament (B) Rules of Law
(C) Rules of Business : (D) Rules of Executive

For public policy evaluation, Guba and Lincoln developed a particular approach

called as :
(A) Negotiation Approach (B) Design Approach
(C) Multiplist Approach (D) Systems Approach

The National Population Policy was announced by the Government of India

in :
(A) 2009 . (B) 2010

(C) 2012 (D) 2000

]
v

How many members of Indian Parliament are represented in the Central Social

Welfare Board ?
(A) 4 (B) 3

(C) 6 (D) 7
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45. Profefas 4 § = fofla &9 5t vfea = b s & 2
(A) 92 & fam (B) @rFA & fam
(C) =R & fam (D) méﬁm

46. % Hfifa F TeiwT & fou @ R e 3w fav sfesm fasfaa fea, =

Head ¢
(A) wfgami gfesm (B) wuiwd gfesm
(C) weEifene gftesm (D) =EEa giesm

47. YAT R BN UEE SaEen Aifa ) od9em w5 7 ot .
(A) 2009 # - (B) 2010 #
(C) 2012 § .0 (D) 2000 F
48. WA THE # fFod we@ 3 wAm-waam ¢ § gfifafoa =@ 2

(A) 4 (B) 3

(C) 6 @m 7
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49. Which of the following is not a scheme run by Central Social Welfare

5l

Boad ?

(A) Family Counselling Centres

(B) Condensed Courses of Education for Women
(C) Working Women’s Hostels

(D) Shelter Homes

The Public-Private Partnership model in Health Sector received official

endorsement in which Five Year Plan ?
(A) 2002-2007 (B) 2007-2012
(C) 2012-2017 (D) None of these

What is the proportion of private expenditure vis a vis total expenditure on

health 7
(A) approximately 80% (B) 60%
(C) 50% (D)  40%
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49. fretfafas # 4 v dom $= oo Fam @ g0 T@ TwE a2
(A) ufEn W &y
(B) wieensii & fou foen & dafr wemsa
(C) =\ T @ wfeeneti % fau semEm
(D) JFT =W

50. fog deadig dern & oo wRe @ 8 # meEee-ten 9rieR w0 gsEe

faen 2
(A) 2002-2007 (B) 2007-2012
(C) 2012-2017 D) 3T H FE

51. Fisit =g oo %@ =93 & HIWG &1 GO A W W He @| 791§ 7

(A) =TTHT 80% (B) 60%

(€C) 50% (D)  40%
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52. The Central Government shall consult .......cooverrirencnas on all major policy matters

affecting women.

(A) Ministry of Women and Child Development
(B) National Commission for Women

(C) Central Board of Social Welfare

(D) Women NGOs

53. An NGO and voluntary organisation has to be registered with ...................c

to work at national and international organisation on human rights issues,
(A) UNO (B) UNESCO

() UNICEF (D) ILO

54. Which of the following is not a social indicator of development ?

(A) Education (B) Health

k)
»

(C) Industry . : (D) Pension Schemes
55. Public enterprises are different with private sectors in terms of :
(A) Nature (B) Obligation

(C) Objectives (D)  All of these
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52. wieensii #1 wwifad H A T3 Afad § 92 99W 9mel W $3 qR fEmed
ey &N 7

(A) wfeen a1 =@ a9 daed
(B) T wfeen amam

(C) H5a wa™ Feam A€
(D) wfeen TR,

53. wra Afusdl g8 W UL 99 Sy T W W w5 9 -m@EH 91

m ﬁm E 3% ........................ ﬁ ‘F’ﬁ'ﬁ AT m |
(A) F.uA.3f (B) A
(C) gfdw ' (D) 3R TE.3H

54. Frefafes 4 @ = & oo faem =1 9o = & 2
(A) foen (B) @
(C) 3g@m .;(D) e et

55. W 3gad, fet &6 & wme # sem ¥ e
(A) wfa H (B) wdeq

(C) ¥4 | (D) 3994t §
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56. Public Investment Board (PIB) was set up in the year :
(A) 1972 (B) 1978
(C) 1979 (D) None of these

57. “Financial administration is at the core of modern government.” This statement

is made by :
(A) Hoover Commission
(B) Simon Commission
(C) Fulton Commission
(D) Administrative Reforms Commission
58. Mixed economy promotes :
(A) Collective control over means of production
(B) Individual control over means of production
(C) Both collective and individual eontrol
(D) None of the above
59. Economic reforms in India were brought in the year :
(A) 1992 (B) 1991

(C) 1980 (D) 1985
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56. weef fAaw &g (femidl) fea od @ feo mn @ ?
(A) 1972 (B) 1978
(C) 1979 (D) ¥ ¥ #8 E
57. ‘fau womda sy SR & ga d ¥ 9w wun feed g fm o ¥ 2
(A) T8 3mEm
(B) WEHq 3mEm
(C) wEes 3mam
(D) WeTES FUR @A
58. fufya sidergeen agmn 34 ¥ -
(A) TEA & WA W osfas amfew Frem
(B) Seued & WvAl W safFmm fras
(C) afew 3R =fFma fFasw aEi

(D) 375 # § FE &

(A) 1992 (B) 1991

(C) 1980 (D) 1985
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60. The main instrument of the Government to exercise control over its
expenditure is :
(A) Prime Minister's Office
(B) Finance Ministry
(C) Cabinet Committee on Economic Affairs
(D) Comptroller and Auditor General of India
61. When was the disinvestment programme started ?
(A) 1995-1996 (B) 1998-1999
(C) 1990-1991 (D) 1991-1992
62. Panchayati Raj is a system of :
(A) Local Government
(B) Local Administration
(C) Local Self-Government

(D) Rural Local Self-Government
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60.

61.

62.

A A W T 1 e WeR FOyEs e a# ¥ 7
(A) WUR WA FEied

(B) faw e

(C) #fds wel =i Hfamvseia wfafa

(D) wra & fgss s e ghes

fafay =dws w4 & & ™ 2

(A) 1995-1996 T (B) 1998-1999 #
(C) 1990-1991 # (D) 1991-1992 ¥
T TE UH e § o

(A) TFAE TR F

(B) Tt yemea =

(C) TIFa TER &I

(D) Y TG WEHR H
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63.

64.

President’s rule can be imposed in a state under the provisions of :
(1) Article 356
(2) Article 360
(8) Article 352

(4) Article 365

Codes :
(A) Only (1) (B) (1) and (3)

(C) (1) and (4) (D) (1) and (2)

“The state shall take steps to organise Village Panchayats and endow them
with such pov;/ers as may be necessary to enable them to function as units

of self-government.” This provision is mentioned in @
(A) Part I of the Constitution (B) Part IV A of the Constitution

(C) Part III of the Constitution: . (D) Part IV of the Constitution

85. The most commonly used nomenclature for the head of a directorate in the

state administration is :

(A) Secretary (B) Registrar

(C) Commissioner (D) Director
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63.

64.

g wawT * a9 § URufa WA @Er S 9% & 2

(1) == 356

(2) #HI=® 360

(3) =R 352

(4) FHT== 365

HE :

(A) 5 (1) (B) (1) 2R (3)
(C) (1) 3 (4) D) (1) &R (2)

‘I, T TEEH] SR H IERA ® €9 B w0, FUH a9 @ 6y et
F1 % fau #gw seum’ 55 yeEyR § saw ™ ¥ ?

(A) dfaygm & w9 1 (B) dHfaym & w9m IV-A

(C) wfaum & wm I (D) wfEum & 9m IV

T woreE § fRvem ® oy @ fou wed s e § e 9 AamEet €
(A) wf= (B) R

(C) FF D) FrRy=
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66.

67.

69.

The nearest analogue of the French Prefect in India is :
(A) Chief Secretary (B) Divisional Commissioner
(C) Block Development Officer (D)  Distriet Collector

Panchayati Raj form of rural local government was adopted first by

(in order) :

(A) Rajasthan and Madhya Pradesh
(B) Andhra Pradesh and West Bengal
(C) Rajasthan and Andhra Pradesh
(D) Andhra Pradesh and Rajasthan
Which of the -fo]]owing is not a Commit.t.ee on Panchayati Raj Institutions ?
(A) Balwantray Mehta Committee (B) G.V.K. Rao Committee

(C) L.M. Singhvi Committee () Y'ugandhar Committee

Who is the Chairman of the Dis‘t.ri;:t Planning and Development Board 7
(A) District Collector

(B) Chairman of the Zila Parishad

(C) President of Municipal Corporation

(D) Minister incharge of the District
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66. wd H Wi & Witaz & fiheon IFTEY T
(A) q&a g4 (B) H9rft e
(C) wavs faswrg sAfeeprd ) foen Feaz

67. UM T WER % w9 H GWEd 9 F TS T A T 9 (FE H)
(A) ToRIA #1799 W& B
(B) @iy WaW 3R Ui¥=EH FWa g
(C) TS 3R Y Y W
(D) MY weu dT USEH N

68. freifafas # ¥ Frt ofufy dumd o Fwel § wefuw @ ¥ 7
(A) S@aa T4 Heal GiHfd (B) wheta. 1a wfufa
(C) wewn, faeem | (D) gmeR wfaf

69. o dom @ fawm @€ w1 @y FW g & 2
(A) T wereed
(B) foen uitee =1 3eay
(C) #m fm &1 Ay

(D) foet =1 99O WA
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70. The main source of revenue of urban local bodies in Indi‘a are :
(1) Taxes
(2) Fees and Fines
(3) Grants

(4) Service Charges

Codes :
(A) (1) and (2) (B) (1) and (3)
(C) (1), (2) and (3) (D) (2) and (3)

71. The first Municipal Corporation that was established in India was at :

(A) Chennai (B) Delhi

(C) Mumbai (D) Hyderabad

72. In the state, which is the highest development agency ?

(A) Samiti (B) Gram Sabha

(C) Zila Parishad (D) None of these
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70, W # wed w@ria fEd @ TE ® aer 8 o

(1) =X

(2) Y&k 3R e

(3) 3EM

(4) |1 YF

H :

(A) (1) 3R (2) (B)

(C) (1), (2) #R(3) (D)
71. 9Ra § wgen R fm wnfma few mn oo

(A) I8 ¥ (B)

(C) g% H ()
72. U # Iswow faEm wSE S 72

(A) @fafa (B)

(C) foren gfteg (D)
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73.

74.

75.

Which of the following are frue regarding the Integrated Rural Development

Programme ?

(1) It is unidimensional in nature

(2) It adopts a holistic approach

(3) It calls for a high level of co-ordination

(4) It is mainly a poverty alleviation programme

Select the correct answer from the codes given below :

Codes :
(A) (1), (2) and (3) (B) (1), (3) and (4)
(C) (2), (3) and (4) (D) (1), (2) and (4)

Which one of the following does not form a part of Swarna Jayanti Village
Self-Employment Scheme ?

(A) Lifting up the families living below the poverty line as the aim
(B) Rural individual poor as the focus

(C) Prior identification and selection of activities

(D) Implementation in the same manner as a project

Jawahar Gram Samridhi Yojana (JGSY) is implemented entirely at the

level of :
(A) District Panchayat (B) Intermediate Panchayat
(C) Village Panchayat (D) Nagar Panchayat
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73.

74.

75.

fF=fafas 4 4 wHipd anfin fasm sedfsn & 3 F F99 99 ¥ 2
1) =% vFfa 4 ww-amnf ¥

(2) 98 95U gfesm @ 2

(3) W& FHEA F Feamww @ o0 FEal &

(4) % W& ®9 H T S FEEE ¢

99 Ty T F2 F W& IR FH FUF HIGY

33:6 s
(A) (1), (2) 3T (3) (B) (1), (3) &R (4)
(C) (2), (3) X (4) M (1), (2) 3K (4)

frefafas 3 4 S s @ s49d o @i G ® TR & 'Y @
TE w ?

(A) TE Ten | A" wA wet 9fE F I BH & /g W w9 A
(B) & & W@ @R & Sigd w5

() & wgam v nfafafudl =1 579

(D) TF & Tiw 8 U uEeE & §9 H FEaad

saEt W 9YiE de R 9l e § o W oan o § 2

" (A) T5m TE=EE (B) wWeuFdl g=TEd

(C) um TarId (D) R Y9Ed

T.B.C. : 21/15/ET—III 47 P.T.O.



